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HER KEFHT 0.52 EER HEMEAEBERKEEIITE 3.0
HBEE KETAEIE 0.038 EER HEFMEEBEREE2TH 0.15
BER KEFAL 0.013 EER HETEEREDEATH 0. 041
HER KETHEF 0.89 EER HETEERIEE6TH 0. 047
BEE EEATIE+ AR 0.70 EER HEMEXKXAZEFITH 0.0011
HBEE ZEETIR 0.26 EER HETMEKERE BT 0. 0075
AR REHTARREAZELH AR 5.1 EER #HETAREZATS 2R/ T 0. 084
AR &I R EE KRS RAT 0.80 EER PR R SETE 0.0016
TER AT RE T L REAEE L5 B AR S ET 1.9 EEER HET AR HHE S A 0.015
AT RETEREK AR LA 1.7 EER BB B v 44 = AT 1.4
AR RAMAERE S RHAE 0.43 EER HERR T 2 R AT 3.4
AT RHTPRERER/ miRER 0.13 EER B B T i A X AL AT TR AT 1.9
AT AR LI F X B PR AT 1.7 EER HE R T KGR X KR 0.32
AT EATUEREE/N\K 0.39 EER BT E BETS A 0. 65
AR AT R X A FE R G R AT 1.6 EER BERR T RGE X AT 0.38
AR AT AR XM~ {HF / tthEr 3.9 EER B B T 188 s BT AT 0.48
AR TR AR T 7 IR X L SR AR T T 0.93 EER BB R TH RIG AT o 15 0.48
RARAT EHTARRKEEHMEI AT B 2.2 EER BT BERT G L 0. 56
AR AT IR R X ERE) b 1L O AT 0.66 EER IERHEFELE 1.6
AR AR R XA E 0.78 EER Bt R 3.4
AT RART IR B X Hk LU R IR SR AT 5.5 EER BAEMAEELEK 0.10
AT RENTH 0.14 EER HETAAREESRE 0. 096
AT KENTH 0.46 EER BT KERET 0. 020
RARAT HFHT 0.034 EER A= min] R ET 0.038
RABAT FNERHT 0.0042 EER = m R 0. 11
RARAT HARAET 0. 00035 EER 7= AT 0.15
AR {RIRET 0.14 EER s h B R — AT 0.020
AR 5 SR ET 0. 062 EER 78 s th e AT 0.15
KB AT AIRTEEXEBE & 3.2 EER AEMRAESCLE2TH 0. 041
KB AT AEFLEERMNES 0.58 EER AEMLUOKNTFTLAOSTH 0.19
KBRAF KB fE X AL T 0.22 EEE FEWEHBA R 0. 054
KB AT AEHARER=ZHRE 0.12 EEERE FATTE 30
N KBR IR & X AHET 2.9 EER hney )| v S S BT L A 24
KB AT KEHiRIIEER 5.1 EER Ao )i TAn e )1 BT ST R 0. 82
KB AT RBRAREXEIIL 0.77 EER mENHLUFITH 1.9
KB AT AERFRERRGE 0.24 EER 76 i v 7 A< AT 0.0017
N AERFBEERSES 0.11 EER FERCIIEH 0. 00093
KB AT AERHiEZIRIENEE 1.1 EER =AmEH 0. 91
KB AT ABRTRESEFRAREREXLXHA 6.1 EER (=X e i 0. 032
PN PN DAY A 0.78 EER =HMZEEREITH 0.00010
PN =2 hiP N 4.9 EER R )IBTARE R F I 0. 00051
KB AT &R 6.0 ERE ZRMARFA 0. 0031
KB AT fhE™H LA 3.2 ZRIE ERMIAER 4.1
KBRAF L N 0 ERE Z Rtk FHET 0. 0059
KBRAF WAETFEILFE 1.6 ZEZRIE E=N Y L 0.16
PN RATER 0.24 =RE ZERTARTFRYE 0.024
KB AT INET=XE6TH 0. 091 ZRE 2[R T ' =] BT 6.3
KB AT BEENHAE 3.1 ERE 2 R T 7 5L BT 0. 91
PN RKEMFEHSHE 14 =RE HHTHEMA 0.96
KB AT HEHREFHA 6.1 ZRIE etk Ik 0. 021
PN MEHKIE 10 =ZRE JIIFEET Tk 0.94
KB AT HMETEEF 5.1 ERE =EHHE 3.2
PN FEm= LA 0.064 =RE LERI=E 0.37
KBRAF BEHmRA 1.4 MFLE [FFLmhiER 0.013
KBRAF BEHFTILE 10 FMFLE  |FOFLTh S E 0.37
KBRAF ABRIELTXEE 1.3 FMFULE  [FOFRLmm /R 0. 052
KBRAF BARETLH 0.95 MFLE | FFLHERF 1.2
KBRAF EREMAES R 0.40 MFLE | FOFLHERF 0.11
N RESRTEE 0.25 MR EAT=F5& 0.033
KBRAF HEETEFER 0.13 MPFLUE  |[BATKRE 0.13
KBRAF ERE&HEE R 0.074 MFLE |RIHEH 0.34
KBRAF HREXFSE 0.56 FMILE |HTHRW 0.98
KR AT R T 52 B 0.031 MIWLE |FETERIIETAR 0.092
KBRAF AFHER 0.29 = OV A 19
KBRAF F R RIRFKFNK 16 LR [fEHERy £ 0. 044
EER HETRRREEEITH 0. 056 MIVLE  |BRIET LRI 0.064
EER HMEMEEXZEI/IBITITH 0. 045 MILE | BRIIEHE 0.090
EER #HEHIELEHES 0.075 MFLE |HSETRS 0. 065
EEE #HEHIEEDERITH 0. 031 MFUE | HEETE 0.22




ERIBFEEST A AT VERERERRE (118)

HgERERAE —ARIREBIEERE
#BE TR FEH = =HE= #BE TR AEH R =HE=E
(pg-TEQ/g) (pg-TEQ/g)

MLE (BB 0.48 i 1L 8 FRTELHAF 0. 00049
M/LUE [GLUHTEH 0.013 ] LU 2 fRETH S KETHK S 0.028
MILE  [BEARETFE 0. 056 RIS BaIH=RA 0.063
EmE EmMMAR1TH 0.36 i 1L 8 #F AT e AET SR EA 2.5
EmE EmmEAETF 0. 060 i 1L 8 FETRAES 0.15
EmE EmMmEANER 0.011 AL FEHAR 0. 00099
BmE B B F AR Bl AT 0.0036 ] LU 2 BEMMO 0.024
EME EmmSSEUER 0.20 ] LU 2 BEEMER 0.032
EmE EETEEETEEE 0. 0081 ] LU 2 BEEMEW 0.016
EmE ALY 0.0018 ] LU 2 BEEMARLE 0.025
EmE J\BERETAR K 0.12 ] LU 2 BEEMAR 0.021
EmE ZHHXFRF 0.010 i 1L 8 SEMEMER 0.029
EmE wEERT KF{H 0. 062 i 1L 8 XIEMEER 0.058
EmE LXRETHEF 0. 0047 i 1L 8 E(EAE 0.063
EmE BEENKFEEE 0.0071 ] LU 2 XIEHEREF 0. 040
EmE RILETEHIER 0.14 ] LU 2 EOMBAETHE A 0.087
EmE FEET 515 0.27 ] LU 2 BEERER 0. 021
EmE FEEETEH 0.76 ] LU 2 FEEFET H IR 0.063
EmE JLFFET K 4 & 0. 0030 ] LU 2 SFETE LT[R 1.2
SRR WIIHEREARE 0.010 ] LU 2 AKEEET £/ 0. 61
ERE AT T R BEET 0.22 fif] Ly R EFETRHF 0.14
SRR ERTATEE 0. 0021 LER LEMERREGREEZS 0.012
SRR JERTBESH 0. 049 LER LEEMERRGREZH 0. 0052
ERE ERTRRETAREE A 0.0019 LER LEEMERRGRE B 0. 065
EiRE HTHTEE2TH 0.037 LER LETERXABTHET AR 0.18
SRR 25 = AT 0. 036 LER LEEMERBR/\E 0.031
EiRE KEHFCERZA 0.0028 LER LEMERRARTH R 0.054
EiRE KEHTAKHETXHA 0.026 LBER ETHEER 9.3
SRR EMEFETAR 0. 046 LER AETEHmAE 1.1
EiRE HERtAT 0.0022 LER EHEFHESIF 0.20
SRR BETETRKFEH 0.12 LER EE b AT 0.42
EiRE i/ ERTKFEH 0.093 LER IEBenapi=1i 0.34
SRR HIRH 5.6 LER G cEIE RS 0. 0084
it L2 [ B3R 0.25 LER BT EET T H 0.049
fif L2 ELH SR 1.4 LER Al 0.0011
it L2 [ LU iR 0.47 LER R EARET 0.23
fif] L2 FeE] 1L T 3 0 T A A 0.39 LER =R =FATLRAK 0.056
it L2 ML EES R 0. 0046 LER RILETSMETSE 0.030
it L2 L4 0.26 LER RLETEXRATHER 0. 0026
fif L2 & LT A 3 0.47 LER HBAmHmEF3TH 0.72
] LR FLUHmEES 0.077 LER Tra AT/ TFRETEA 0.066
fif L2 NG NG i 1.3 LER CIHEMIBREERYIEITH 0. 042
e L2 G i N =) 0.029 LER FRTEF /N1 L2TH 0. 42
i L2 & L R ERET ) O 0. 022 LER 38 HH BT By A< T 0.13
i L2 ERHTTEH1TH 0.67 LER REEFETFERKIR 0.86
i L2 BEgmR 0. 41 LER ZEAHETXKFFAIA 0.011
] LU 2 EYRHmHESITHE 0.17 LER s ERT)II/NA 0.0098
i L2 BYmHE 0.0019 LER tHEET R 0.13
i L2 EHHmIBA3TH 0.083 LER #HAaERETHEAR 0.17
i L2 BT EEER 0.15 Tijm]i=y TEAHTEFEAATIIHFTERE 0.0093
] LU 2 BEHHEE/N\E 0.27 wWAg TEAHTLEHFE—TH 0.0018
] LU 2 BEmEAH 0.12 wWAg TR LEFHBEITATH 0.0076
] LU 2 R AIE 0.031 wWAg TREAHTEEIOREEI—TH 0.0034
i 112 IS ES 0. 61 wog TEMEESAFNE_TH 0. 0092
i 112 EUHLSH 0.033 wog TR L) B AHET 0.21
] LU 2 EFHFHAKE 0.10 wWAg FEH/MARE2T B 0.13
i 12 EHFHEER 0.24 wog FHTRFRARFTTEOL 0.027
i 112 ZREMmAFE 0.044 wog FHHARFREHMFHRR 0.012
i (L2 FE L ERET 0.058 wog FHHRFRAFEE 0.038
i L2 HIETHF HET A H 0.039 wog WOHEH 0.72
] LU 2 BHHmR 0.18 I m}l=y WOFEEHFT 0.028
i L2 #tmuE 0.30 wWog WO KN EE 0.084
i L2 ERmETEHER 0.042 wOog FHARFIM 0.011
] LU 2 SR ERTEih 0.14 wWAg BT RFTEAL 0.16
i L2 BRTHHEEA 0.10 wog THMHRXFRHRL 0.27
i L2 SRETHENLEE 0. 031 wog THHRFAA 0.056
i L2 FRTLH 0.036 wog AETEE 0.16
] LU 2 HRTAEA 0.018 wWAg AETEAKE 0.030
i L2 FRHKRENE 0. 061 wog FSHERITTH 0.13
] 12 FRTHEBTHL 0.033 WA gE KA HTITH 0. 040




ERIBFEEST A AT VERERERRE (118)

MR ERE  —ARIRIS IR
HR3E TR WA S EMEE HRE TR A A EMEE
(pg-TEQ/g) (pg-TEQ/g)

WOE  [EFmLE 0.028] [EEE SRR iR =T B 0.035
WOg MATRHA 0.014 & [ 2 EETEHEREMUAETHE 0. 036
WOg  |EmmREL 0.017] |&EmE EET R BRIEHATH 0. 030
Wag & T o BR AT 0. 046 & [ 2 EETmEEXE/N\TH 0.69
Wog  |AEmARNE 0.097| |EmE EAHARATS R 0.013
wog |AEmATESLE 0.032| |EmEE 2 i 78 X A F R 0. 055
WO WL/ ERTATES o1 |EmE SR HARGHET B 0. 61
wog A XS XFEA 0. 0059 & e 1= fRIFT=H 0.0016
Wog  |fokETEIA 0.98| |4EMR  [#0)im AF0RTIIERR 0. 00072
Wag HAAEE XFEH 0.69 & [ 2 \Z i LGB B4 0.0012
WOE | FARAFTEE 0.029| |&BEE  [N\&HLK 0.010
Wog  |FRErES 0.013| |&ME |hEHEE 0.19
WOg  |FEATATMELE 0.014| |&FEE  [KEFFHAR 1.2
mEE  |mEaHatN 0.22| |EEE |AEFHESE 0.16
BmEE  |EEThAE SRS 0.013| |&ME |fEEdEn 0. 0031
BEE  |BMTEEEEETRE 0.047| |BME  |ERkiEE s 48 0.011
‘ERE  |MMABHRAE 0.56| |EME |SAmERER 0.016
=] FIEE Tt R ET/EH 0.054 & [ 2 AOEMESERA 0. 0043
meR  |EEmREIEhs 0.16] [|EEE |#oFt=@EETEE 0.0043
mER  |EHITRSEEE 0.39| |&EME |AmETLER 0. 089
mBE  |EH)ITI AR 0.29| |EMEE  |[AILETHE 0. 11
=] EHINHEBFEAN 0.019 & [ 2 SESLEVNOFN 0. 0052
=) EEFIAWL)IETJIE 0.030 & [ 2 #FETH L 0.0018
BmER  |FEmSAT L E AR 0.040| |BFE  |SAETATIKFH 0.0013
=] X E T HRET AR 0. 11 & [ 2 RIENEHKIL 0. 00076
wmER XEMEEREF/\1E 0.039 & [ 2 ZXHTHAE 0.048
mEE |EETARNFENS 0.069| |EEE |EHsFHE 0.0017
mERE |EEHABRTFAS 0.0055| |®EE  |FitH 0.098
(=] STt EHET B R A 0. 0066 & [ 2 BE BT 0.011
wmER =pmILSRET 3R 0. 0062 & [ 2 i HETAE 0. 059
mEE  |=hIETHRA 0. 041 - N 48
BmEE  |BAmKTEZETH 2.5| |[E®E  |EEHAMETAFERLA 0. 26
mER | EBETRFBERN 0.084| |EEE |[EBETEIEIATHS 0.17
mER |GEHEEHFEH 1.5 |EEE  |EEwsAETSGE 0.0028
mER  |WLETHET A 0.084| |EEE |ZAHESABIKFEELS 0. 081
L NG E N 0.0037| |#&ZEE |FHEEdHANEKIE 0. 0049
mEE  |ERETRER 0.26| |E®E |REm@EEIAFEAR 0. 85
BmEE |ERETEFANTH/ L 0.30| |EBE |[EETAFEEH 0. 0049
@mEeR  |#EieATm R AR 0.15| |E®E  |[WiEmmERTHE 0.0011
=] ESET AR FIRER 0.97 EHEEE NEEKRFXHFE 0. 045
mER  |dtEETEEE 0.79| |EBE |FHEETEAR 0.12
BEE |EAmMETETAEST 0.0085| |EMEE  |EEHASKITE 0.58
mEE |REFETRKZAH 0.14| |[EBE  |REHAHFE 0.015
mER | LRETESTEN 0.054| |EIFE |REHEAITH 0.011
BBE |03 EWERFAAE 0.012| |BKE |RIAHTSLIRE 0.019
=] DAEHEHAFHEHH 0. 0089 RIFE RiGH= RET 0.019
(=] D5 ER—FFHIN 0. 0020 RiBE REBHXZDOEITH 0.0016
=] HA& LETAEFEF 0. 0046 g R&H ="V ILET 0. 086
BIEE WL AR 2.8| |RIAR  |Ew/NEET 0.023
BIEE  |WLmEE 1 TH 20| |RIAE  |EusiEAr 0. 057
BIEE  |WLTRH AT 0.17] |EBE |EBHEFESEITE 13
=g = &L IEET 0. 00090 RIFE RIGTH S SET 4.9
SHE  |BAmEAL 0.023| |gEAR  |sEAmTEE 5.6
EAE  |dAMTFIERATE 0.027| |feAE  |EEAdTEKE 4.1
EEE  |dAmm AL R R ARET 0.1 AR |sEAmEEEEA 0.10
EHE  |dkAammhALRFEETE 0.023| [HEAR [EATRHER 10
L |dAammhAEREESL 0.0074| |sEAE  |gEAdE)I 1.9
EEE  |dEAMT N ARERAKRE=TH 0.28| AR |AEAwF AT 0. 040
AL |[kAMTELRE—_B=TH 0.025| [fEAE  [REAFAARAT 0.079
EHE  |dAME/BREBE—TE 6.7| |EEAR  |feATHURET 0.33
EHE  |[dAMT/BERARE—TH 0.060| [#EAR |mEAdiEE 0.20
& [ IR dEAMT/\BAEAREDOEE—TH 0.0014 AR REART i HTET 0. 062
EHE |k AMTFBRAEAE=TH 0.16| AR  |#BETARE 0.013
218 ERmRREE s EETH 0.021] [EAR  |‘EEFIE 0.070
2118 ST RRZEARTHE 0.15| |#eAR  |EREAR 0.014
2118 ERmiESREFE—TH 0.15| AR |ZEBETLE 0.024
2118 EmmiE S REAR-THE 0.015| |eAlR  |H{EATER 0. 040
218 ERm AR TEEETH 0.0078| |AHE  |KHmAFEAREL 0.014
2118 2 1) oh e K3 0.19] |X9E |KASHKFEE 0. 0065
a2 e SR MR AEE T B 0.028] |XHE  |[KHTHAFHE 0.18




ERIBFEEST A AT VERERERRE (118)

HigELREAE —RIRBINIRERE
#B3E T IR FEH = =HE=
(pg-TEQ/g)

KR KomABEBEY2TH 0. 065
KR AOmHAEHSEITH 0.025
KR K5 TR FRET 0.32
KR RKOMRFRE 0.0028
KR ROMKRFH 9.7
KR ROMARFHER 0.029
KR RKOTRFNE 0.030
Rng RIFHAEERITH 1.3
KR FEMRHRREITHE 0.044
KR HHEMTXWLATEREXLL 0. 21
Rng HHEMRLE IR KE 0.72
KR T aEXF /A 0.58
KR EETAEXRFEZ#H 0.22
KR FETRUEAITE 1.1
KR BHRRHFHTRETHE 0.0017
KR B2 RXBFHRFAETHE 0.90
KR EXREmTIEATER H 0.028
HIFE =g KERET 0.50
HIFE EiETEAE 0.012
HIFE =150 0 sl 2.2
FIFE ERTId—~E2THE 0.35
HIFE Emthiksy E3TH 0.12
HIFE HEMAL2TH 1.2
HIFE INKT K FHEEF 0.34
HIFE H R BRI ILE AR T 0. 0020
HIFE BETKFAH 1.4
FIFE EEETXF LT 0. 040
HIFE Ay ERRF=4F 0.049
ERER |[ERETLAOME 0.84
ERER |[ERETLAOME 0.16
EREBR |EEH+IH 2.1
BERER |ERMAMRETEAE 0. 40
BEREE |EHhiEmEmESEsE 1.0
BEREBER |REKERTE 0.016
BEREE |FREFEEHME 1.0
EREE |EEFEHZL 3.6
R HEEm 1.4
R EEEH 0.73
R RKEBKEH 0. 41
R B 1.3
R SIRIZH 0.30
R A ERET 0.53
R Bnst 0.20
R BEEFEHN 0.42
R £ AT 1.6
R FiIst 0. 050
R FEEF 1.4
e FEEH 0.089




i E  FEAEREDRRIEERE

ERIBFEESL A AT VERERERRE (118)

B AT IR REM R EUEE #RiE TR REH R EHES
(pg-TEQ/g) (pg-TEQ/g)

dtiEE HRTERE®2%2TH 0.73 A HEMKFEH 2.0
dtiEE #L R 1 3R X A A BT 0.12 A= PEMKFEM 0.54
%ﬁ% H§$mEEM1%2TE 0.37 iz 12 FEMRFAIR 0.42
e wILMEE2AEI4TH 3.4 |LEE HET+ BET 4.6
JbiE wILmEE21E&EITE 2.9 R $ET+ AT 0.21
biEE wILTEE245%m3TH 0. 059 IRz R FETXFRA 3.0
dtiEE SFEETA T TALAR 38| [LiE RiRMKFEH 0.12
dtiEE SFEETAE AR 0.077 L 2 RiRTKFER 0. 0032
EHRE HERMAFEARFLR 0.64] [WLFZR RIEHRFHA 0.23
EHRE HEHRMAFHIAFIR/ R 2.1 A mbsm/NE 0.019
EHR EfFIETEAETER 0.88 Rz R makG Ik 0.034
EHRE PRI HET RIS TE 2 M 6.9 iz 2 CEhL=ES 0.75
AFE RAET )BT F A% M 0. 26 A =& B XFER 0. 039
EFR KBTI F AL M 15 [WkE NIFEBT K= M & 0. 0067
EFR AAnET )BT FA S M 4.4 (LEE W BT EEF 0. 089
EF8 AEmE)I BT F RO 18] [WkE BT EEF 0.14
EFR AET )BT F A% M 3.8 |WLEE WeEBTE B 0.013
EFR RnET )BT F A% M 3.6 |&EEE T = L gl 3.7
AFE AAnET )BT F A% M 2.6| |[mBR BMLTEER S E 18
AFE AAET )BT F A% 1.3 |[wBR Lo =i/ ITET B 0.59
AFE AAETHE)IETF AL M 8.3 [=BR W = AT/ IETSE R 1.8
AFE Z A EAET 13 |"EE W =T/ IETSE R 0. 065
EFR Z A EAET 0.84| [BEER W =T/ ITETSE R 0.48
EFR A E AT 6.1 EEE SR D 0.14
EFR A EAET 6.0 |EBE BATaR 9.5
EFR Z A EAET 0.49| [©BBER SRk RS 4.2
EFR A1 E AT 2.1 EEE SRR 1.3
EFR A EAET 2.3 |EBR BAam=vE 6.4
EFR AT EARET 8.6| |©EEBE SRk D 0.18
EFR A E AT 0.045| |fEBE BHAm=vE 24
EFR BN KRR LR A F R R 2 |[BBR B B R AR 14
EFR BN KRR LR A F R R 3| |[BEE BATaR 2.1
EFR BN KRR L= R F R R 24 |5BBR HIZET X F % 12
EFR B KRR IER A FARE 33| |EEE HZBT K=F ik 9.7
EFR BN KRR L= A F R R 12| |&EE HIZBT K=F ik 32
EFR BN KRR L= A F R R 59| |[wBR HIZET KF/NME 0.89
EFR BN KRR L= R F R R 4.0 |EEE HIZBT K=F ik 10
EFR BN KRR LR R F R R 3.0 |tEEE HIZBT KF/NE 1.4
EFR BN TKIRE B A F R FFET 6.3 =58 HIZET X F i 1.5
EFR SEMATEREES BT EATAR 2.9 EER HIEET KF/ME 1.5
FEESE] ERAATEREES AT LA+ AR 1.6 EER HEET K F i 14
EFE SRETAFERESES BT A+ AR 11 BER RE & T K=F 76 Al AT 330
EFE SRETAFERESES EIF EA+AR 4.4 |BHER RE & T K= 76 Al AT 3.0
EFE SRETAFEREES EIF LA+ AR 2.8 BER RE & T K=F 76 Al AT 13
EFE SRETAFERERES EIF LA+ AR 9.9 BER RE & T K= 76 Al AT 9.9
EFE SRETAFERERES EIF A+ AR 0.20| |BER RE A T K5 78 7l T 16
EFR EEMATEREES BT LA+AR 0.32 BES BB T K5 78 7l F 11
EFR SRETAFERESES EIF A+ AR 0.41 BER BB T K5 78 7l F 4.2
AFE KRR B S F/NR O 0.68 [HER REATARFEA 10
AFE KRR B S F/NR O 2.8 |[TER REEmtkHFILE 4.1
EFR RIRETIL B EEFEA 5.7 |[TER mREMEMILIT B 2.1
EFR RIRETIL B EEFHA 14 |FEE mR T AR 10
EFR KRR B S F/NR O 20| [FTER il T e 5.2
EFR KRR B S F/NR O 6.1 FEE By amitsiR 1.1
EFR KRR B S F/NR O 10 [FE& mEATTEREHRE 0.13
AFE KRR B S F/NR O 28| [TER EE AL 1.4
AFE KRR B S F/N RO 5.2 |FER EWHIZR 1.4
EFE BRIRETE OFRNE 0.83 FER BRERT/NE 19
EFE BRIRETE OFRNE 0.44 TER AL ERINE 0.51
EFR HRETEOFNE 11 BRIRAD BRZH 3.4
EFR HRETEOFNE 1.6] [E=mEA EXEE 5.8
EFR HRETEOFNE 1.3 [E=mEH EX S 16
=FR BRIRETE OFRNE 4.0 BRERAR mm IR & I 3.2
=EFR BRIRETE OF NG 0.18 BRERAR mm IR &I 44
AFE HRETEOFNE 0. 027 BRIRAD L)1 SERT 16
AFE HRRETEOFANE 0.45 [ERE#B 3 )1l ATSEET 19
152 Wiz L8 H 0. 46 R INETT/NIET 6.8
bz 2 I RFER 0.014| |Em# N TR S ET 5.5
thiz 2 ErEm=H 4.1 BRIRAD E 4 F = A HT 2.5
Lz 12 BT AESF 1.0 [EWE 37 LLIBT i S 23




i E  FEAEREDRRIEERE

ERIBFEESL A AT VERERERRE (118)

#B3E IR FEH R =HE= FERTIR AEH S =HE=E
(pg-TEQ/g) (pg-TEQ/g)

ELE 3L ET EEmIR 40 EER HETMREXHEEZFEST B 0. 020
EILE SLIIETAER 22 EER HEM#XERTESTH 0. 032
EILE SLIIETERTF 4.5 EER HEFTMEXEETEIITH 0.0017
EWLE EABRRTA L 2.0 EER HEFTEERSHEAERAIITH 4.2
EILE ER HET A FT 2.8 EER HEMEER/NMAESTH 12
EILE EAEHET=#4E 1.6 EER #HETREARARAITH 2.4
EWLE EAHAETA L 4.6 EER PR HXEE AT 4.8
AR INATHTE SR BT 0.37 ERE =L 0.83
AR INEAT K EFET 2.0 EZRE Eeidiih: A= 0.49
AR INATRE L ET 0.11 ERE LERASSES 4.9
RINE INATHS JTHT 0.36 MILE  [HihThE BET LS 0.44
RINE INATEZ=BHT 0.053 MPLE [T EBREHS 0.092
RINE INATHS ITHT 0.0061 MPLUE |[HThEBREHS 0.52
aIE INATH T EET 1.2 MPLUE [HHhIERETEIER 0.16
GIE INATH R H R ET 0.91 MBLUE [HHhIERATEIER 0.095
RINE INRTHZ Y BUET 0.24 MPFLE [HERMREFHEA 0.43
aIE JILETHF S 1.1 MTLUE [BEEREFAR 1.0
aIE JIAL BT 4% 0.14 MBLE ([EEETA/IIIFRS 1.3
aIE JIALETAiHI5 B 1.9 MTLUE ([BEERSF LM 1.3
BHE & Al K AT 0.0016 MIULE [(EESHETER 4.3
EBHE BH T EEA 13 EmE ERTREE TR 0. 071
BHE EHTEEE 5.7 EmE EmMmREEAITH 0.053
EBHE HhohEH 2.5 EmE ERMTARSER 19
BHE b omiEEmEHL 0.25 EmWE KFHR 0.15
BHE AT RIE AT 0.16 EmE KFHE=H 0.18
BHE AT EBE 0.26 EmE KFHKIH 0.0037
2HE 3R AL BT T 8.7 EmWE EETERIE 0. 0050
BHE P F A ET R # 1.4 EmE HEUEETKFHE 0.26
EHE KT FETAE FE 0.0036 EmE EHETES 0.015
EFHE EHHE/ F/MAR 0.089 EmE HEIETAE L 0. 00071
EHFER EBHMRAKETZ2% 0. 0024 BiEE A AN G T 4.2
EHFER M AXFEM 0.021 EEE AT/ \ B AT 0.37
EHFE EHMAFAES 0.54 BiEE A AN G T 3.0
EHFER EHHE/ HWLUAE 0.12 EEE Al AN G T 0.15
EHFER iz 7) 150 LER B IAEREAD 1.7
EHFER Hitiliil 5.6 LER ﬁmm@mmﬁi 0.0077
EHFER Hitiliil 22 mER HmEMINREERRE 0.37
EHFER hEmH 0.38 mER %mmmmm“a% 0.73
EHFER EATREE 217 mER EETIRNEERE 0.14
EHFER HEEEmMN 0.58 mER EHﬁEﬁWEﬁ%mﬁ 0.50
EHFE A1 ET 1.4 EEE BT EHET R TR 2.8
RHE L HAET 0.029 mER PR AR E )BT L{EFHF kR 0. 068
EHFE EMFIXFHER 6.9 mEE FEHHRENEREFSO 0.72
Ik B2 18 I BHEEEE6T B 16 mEE FEHmARENEREFSO 0.42
Ik B2 1R I BHEEEE6T B 12 mEE FIRET AR E )BT L2 FH F ThR 0.30
Ik B 12 I ETHEIR6T B 5.6 EmEE fmam/ HETREF LS AL 0.41
Ik B2 12 I BHEEEE6T B 0.46 mEE FIRET R/ SEET AR T LK 9.3
Ik B2 1R I BHEEEE6T B 3.1 mEE T 352 T = A BT AR 0.071
Ik B2 18 RIEHEESHE 0.088 mEE B B T £ AR BT AR 0.27
Ik B2 18 RiEmEARE 3.0 mEE flE T L RBT L R F E 0. 096
Ik B2 18 = & EET 0. 095 mER EET/RAI=ZEF=8 0. 0043
Ik B2 18 = W L) By 0.12 mER EET/NRAI=ZEF=8 0. 027
Ik B 12 = LU &-BEH] 0.35 mER = F L AT F 5 0.0070
Ik B 12 TIEHRETAR 0.011 mER =Fr BT KA1 0.0012
Ik B 12 Tigm RAEHT 0.026 mER =i ET T 0.85
Ik B2 18 T RBARET 1.6 mEE BHEERFE 0.070
Ik B2 18 WEFFRE 0. 056 EINE ABEHERAETHEAE 0.40
Ik B2 18 WEFEER 0.25 EIE RS SET 2.3
Ik B2 18 WEfHEE 0.012 IR EF e 0.61
Ik B2 18 BLTBEEEHAS 0.20 EINE SHEMRES 4.6
Ik B 12 BLTBEEHAETNHE 0.0090 IR —EWHEHTEAE 0.092
Ik B2 18 BLTBEEEHAS 0.67 EIE =EmhERETER 1.4
Ik B 12 HPEETR 0.094 IR —EWHEHTE AL 0.32
AR RHTMRAERRREERET 1.3 EIE =AM XFEHE 2.6
AR BRLUT™H 0.12 EINE EZi¥: Lk 0.64
RABAT BT 0. 040 IR 35/\10) SHETRATE 0.83
RARAT ™ 0.085 EREE SHETR+ER 0.054
AR mHEAH 0.50 ZIER AT {aA BT HET B 0.10
AR FEEEET 0.26 ZIER FHEHS BETEME 0.30
EEE HETEHSXFEIAN2TH 1.0 ZIEE FHEMZEEHSHBE 0.11




TRISEES A4+ VERRATHER (L18)
HEBRAE  fARRDRKRIEERE

#B3E IR FEH R =HE=
(pg-TEQ/g)
RS J\IEEmELL 0.063

BRER HEETHRARR2TH 1.8

BRER R IR TR O AHT 0.90
BRER BEETREFHE 0.59
BRER HEETENE2T B 0.38
BRER FREEMLE2THE 0.21
BRER 78 5/ MRET L) 0. 61
BRER A HER 2.6
BRER AMTHAR 0.10
BRER o E A )| 2 ST AT SN L 1.2
BIER NEGRT=88HH2TH 0.56
BIER 7o [ A R T 2R ) 1| BT 0.0098
BRER PO [E R 7 £ SR ET R A 0.44
BRER 78 i A ET B A 0.072
BRER AR ERET EFR 0.11
L K2 H i W ET 0.0030
B R EATTHA 0.034
HEL NZ gt 0.0015
B R TIRmRE 0. 091
L THRHIER 0.0016
B R AEHTZER 0. 0055
HELS REMCY R NE 0. 00053
HEL AIERTA 0. 0041
B R APFENBESELE 0.44
L AR TR 1 BT 4R SR 0.0082
B R FREWD Y HNE 5.3
B R NPTV 0.13
RigR RIBETFEISHITHE 2.5
RigR RIBETFEISH2TH 0.23
RigR RIB T = S HT 0.63
RigR RIB T = S HT 5.5
RigR &R T A LLET 0.41
RigR et R A T 0. 021
RIFE 1% H 4R T I OD S HT 0.013
RigR At R T EN A HT 0.037
RIFE SRE T B O T 0.00090
RiIFE REm{EHAET 0.0074
RigR A4 5 E T 0.035
RigR AF AR 1.3
RIFE T 7 h B T 0. 0031
RIFE xt B i kR T 0.0082
RIFE Sk T = 0T 0. 0055
RigR F S AT L ET 2.2
RigR msREmmEA S 0.073
RigR BB RTIE EHT 1.7
RIFE JUAAET /)y B2 40 0.071
RigR .t H SHT 1.3
e [k k) 0.029
e BAEMEAE 0. 81
REAR KIEHT = 0.28
e NERTE R 0.030
e AT = 0.026
KR E TR 1.0
OB A AT #R 2 BT 0. 00056
BEE = IR T th P ET 0.55
BERER |[EREHAAH 0.87
BERER |[EREHAAH 0.82
HRER AR HT = B TE 1.0
HRER AEETFILE 0.70
HRER AERET IR ST 0.41
HRER AARHET A M 0.068
HRER AARETF 52T 0.65
HRER AR HT = A TE 0.83
PR AEETF R 2T 1.1
B AEETFEE 0. 60
HEE AEETFILE 0.52




ERIBFEESL A AT VERERERRE (118)

REIRIZERAE
(pg-TEQ/g)

=EB ERHAET/N A 330
=EB ERHHET/N A 84
=EB ERHHET/N A 750
=EB ERHAET/N A 550
=EB ERHHET/N A 1500
=EB ERHAET/N A 210
=EB ERHAET/N A 270
=EB ERHAET/N A 400
=EB ERHAET/N A 220
=EB ERHAET/N A 150
=EB ERHHET/N A 400
=EB ERHAET/N A 330
=EB ERHAET/N A 400
=EB EAHAET/N A 710
=EB EAHAET/N A 310
=EB EAHHET/NEA 1200
=EB ERHAET/N A 210
=E& EAHAET/N A 460




ERIBFEESL A AT VERERERRE (118)

i [ e 7E SR &
TR i

AE A =SS
BB [ AAM AT AE —
EBE | KEEATIAH 000
EBE | KEEAT/IAH %0
EBR N LELTON | 760
EBR KEM AT 000
EBR KEM AT 4800
EBR KEM AT/ 3200
EBR KEM AT/ 2100
] KEM AT 2600
BRI [KEEATIAL o0
g & FINAF 13
EBR [ XEATATFIAR :
EBR [ XEATAFIAR 5
EBE | KEEATIAH 0
EBE  |KEETATIAE "
2 FINAF
EBE  |KEETATIAE "
B 54 id
EBE | KEEAT/IAH 0
EBR N LELTON ; '5s
EBR KEM AT 00
BB N LELTON ; 1900
55 R KEM AT 1500
EBR [ XEATAFIAR 34
EER  |KEEATAAL i
ERE  |[XEATIAE 1000
EBR N LELTON ; 2000
EBR N LELTON ; 3000
BRI |[AEEATIAL "o
2 : FINAF
EBE | KEEATIAH 2
288 N EESTIN 600
] KEM AT i
EBR N LEETON ; %
] N LELTON ; 2
ERR N LELTON ; i
288 N TESTIN 2 ¢
2R8 KEA AT/ 100
EEN  |[KEEATIAL 2100
] N LELTON ; ‘30
EBR N LEETON ; %
EBR N LELTON ; 10
EBR KEEM AT s
2R 8 N TEETON | .7
288 N TECIN s
288 KEA AT 02
2R 8 KEM AT "o
BRI |[KEEATIAL i
= FINAF
ERE  |[XEATIAE 00
] N TECTINN 3000
EBR N TESTIN 2000
EBR N TESTIN o
EBE  [XEEATIAH 050




